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@O 2a(a+6b)
= 2a2+12ab
®@ 3x(2x—5y)
= 6x2—15xy
® —yBx—y)
= —3xy +y?
@ —6ala—2b+4)
= —6a? +12ab —24a
® 4a(a+3b)
= 4a®>+12ab
® (2x—Ty)Xbx
= 10x*> —35xy
@ —b(Ba—>b)
= —5ab+b
(8x+2y—1) X (—6x)
= —18x2—12xy+6x
© a(Ba+4c)
= 3a®*+4ac
x(6x—y)
= 6x* —xy
@ 2a(ba+ 3b)

= 10a®*+6ab

@ (—4y+7z)x3x

= —12xy+21xz
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I X HIHA - O
B=a—X
@O —a(a®+a)
= —a® —g2

@ 4xy(3x+8y)
= 12x?y +24xy*

@ (2x—5y) X 6y
= 12xy —30y2

@ (4a—9b)x (—2b)
= —8ab+18b*

® (10ab+ 3a) X bab?
= 50a%?+15a*b*

® 4da(ba+Tb—4c)
= 20a*+28ab—16ac

@ —Tx(2a—b+3c¢)

= —1dax +7bx —21cx
abc(9a—4b—6¢)

= 9a’bc —4ab’c —4abc*
© —3x(2x2+ 3xy—)?)

= —6x° —9x2y +3xy?
(a2+ 2ab— 3b?) X 2a2

= 2a'+4a’h —6a%b?

@  (9m3n2—5m?n+T)X (—8mn?)
= —72m*n* +40m>n* —56mn>

@ (—4x%y?—3xy+ 2xy%) X (—xp)

Ea(3a— 6b)
3
%a X 3a +%a X (—6b)
2a®> —4ab
1
Ex(2x— 4y)

1 1
XX 2 + 5% X (—4y)

x* —2xy
> 4x—8
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—bxy +10y?
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— 5a(3a— 9b+12)
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—a® +3ab—4a
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—a(15a*+5ab—10)

2 1x15a2 +2ax 5ab +%a>< (—10)

5 5
6a® +2a%h —4a
1
(6x—18y)><gx
1. 1
6x X 6 X 18y><6x
X% —3xy
3b8 6b
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50 X 8a — b x(—6b)

—12ab +9b?

1
(8x%y+ 6xy?—15) X (— Ex)

®
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3x2y><—lx+6xy2><——x—15><*

3 3
—x%Y —2x2y% + 5y
3
7a(21a+ 14c)

3 3 )
7a><2la+ 7a>< 14c

94* 4+ 6ac
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